Philosophy: Basic Questions; Prof. Boedeker; handout on Marx and Engels, Communist Manifesto (1848)
I. Marx and Engels (M&E) defend the philosophical position called “dialectical materialism”:
A. This has 2 main aspects:

1. “________________________”: 

a. the view that all that really exists is ____________________.  There is no separate ____________________ distinct from the body (as in Plato or ____________________); and there is no “____________________ substance” distinct from physical, “extended” substance (as in ____________________).
b. M&E differ from other materialists in holding that the driving force of human society and history is ____________________: ____________________ things.  Productive forces involve
(i) ______________ of production (=____________________ + ________________________ used to create something)
+

(ii) human ____________________, or work. 
2. “____________________”: progress based on a back-and-forth movement between 2 parties.  

a. For Marx, these 2 parties are 2 distinct ____________________ classes:

(i.) ____________________ of the means of production

and

(ii.) ____________________: those who actually ____________________ things.

b. Since the beginning of human history, there has been a ____________________ between owners and workers.
c. These struggles have existed because the ____________________ of the owners and the workers are ____________________:

(i) It’s in the interest of the owners to ____________________ what the workers produce.

(ii) It’s in the interest of the workers to ____________________ what they produce.

d. These class struggles between owners and workers drive ____________________ forward.  In turn they

(i) are driven by changes in ____________________ systems (e.g., manorialism, mercantilism, laissez-faire capitalism).

(ii) drive the formation of new ____________________ systems (e.g., feudalism, monarchy, classical liberalism).
3. Thus dialectical materialism is the view that the driving force of human society and history is not ____________________, but rather struggles among ____________________ classes. 

B. base vs. superstructure:

1. The ____________________ of society is the productive ____________________ (= means of production [= instruments of production + raw materials] + labor).
2. The superstructure (= surface, veneer) of society is its ideology: a closed system of ____________________ and views that serves to justify the existing ____________________ conditions, while obscuring the social ____________________ that are expressed in them.  A society’s ideology can be found in its ____________________ and in the common ____________________ of its members.  Ultimately, this ideology just promotes the interests of the present ____________________ of the means of production.
3. For M&E, a society’s superstructure (= ideology) depends on its ________________ (= its productive forces).
C. Alienated labor:
1. Alienation = being ____________________ or estranged from something.

2. Someone’s work/labor is alienated when it is not in her own ____________________, but rather in the interests of the ____________________ of the means of production.
3. The slogan of alienated labor: “I work to ____________________.”

4. The slogan of non-alienated labor: “I ____________________ [in part] to work.”

5. For M&E, labor became alienated as soon as there was a ____________________ of labor, i.e., when different people in a society began to do different ____________________.
6. Throughout history, labor has become more and more ____________________.  

7. M&E believe that the alienation of labor reaches an explosive ____________________ in laissez-faire industrial capitalism.
II. Laissez-faire capitalism and the first industrial revolution (1750-1871):

With the first industrial revolution, the ____________________ of production were completely transformed.
A. Changes in the means of production: 
1. Changes in ____________________ of production: 

a. Prior to the industrial revolution, the primary instruments of production were artisans’ ____________________, and ____________________ and fishing equipment.  
b. The industrial revolution began in Britain with improvements in 

(i.) ____________________ & weaving technology; and

(ii.) the ____________________ engine.

c. During the industrial revolution, the instruments of production became ____________________.
2. Changes in the ____________________ of production:
a. Prior to the industrial revolution, the primary raw materials were ____________________, ____________________, and fruit.

b. During the industrial revolution, the instruments of production also included

(i) ____________________ (used to make factory equipment, trains, and steamships); and 

(ii) ____________________ and (later) oil (used to power ____________________, trains, and steamships). 
B. Changes in work/labor:
1. The major economic system of the ____________________ prior to the industrial revolution was manorialism.  
a. Manor = ____________________ community consisting of: 

(i) small ____________________ plots (for both lord and serfs).

(ii) Great ____________________ of arable land divided into one-acre strips (farmed by serfs).

(iii) ____________________: open fields where serfs’ animals could graze.
b. Social classes under manorialism:

(i) ____________________: land-owners who
- received agricultural ____________________ from serfs

- ____________________ serfs from invaders.
(ii) ____________________ (who farmed): peasant workers hereditarily bound by copyhold to the ____________________ owned by lords:
- cultivated and harvested the ____________________ fields

- received military ____________________ from the lords.
c. Manors operated not for ____________________, but rather for subsistence.
d. Alienation of labor under manorialism: 
(i) The serfs’ labor was ____________________ alienated.  This is because the ____________________ owned what the serfs produced on the lords’ fields.  
(ii) Nevertheless, the serfs’ labor was not ____________________ alienated.  For the serfs
- owned what they produced on their own small ____________________ plots;

- benefited ____________________ from what they produced on the lords’ fields, since this could be traded for products needed by ____________________ on the manor.
2. During the industrial revolution, the economic system shifted from manorialism to laissez-faire ____________________:

a. some definitions:

(i) capital = money used to produce commodities for a ____________________.

(ii) capitalism = an economic system based on the exploitation of ____________________ in order to make a profit for the owners of the means of production.  

(iii) The owners make a profit when the wage-laborers produce ____________________ that are worth more than the costs of ____________________ (= raw materials + wages).

(iv) laissez-faire capitalism = an economic system in which government protects ____________________ ownership of property and enforces contracts, but otherwise does not ____________________ with the economy.
b. social classes under capitalism:
(i) ____________________ /bourgeoisie: owners of the means of production who strive to make a profit by exploiting wage-labor.
(ii) proletariat: ____________________ who sell their labor to capitalists.  M&E believed that wage-laborers would be paid the “____________________ wage”, i.e., the bare minimum needed for their ____________________.  This was because the value of wage-laborers is nothing but their ____________________, and thus their lives.
c. Factories operate not just for subsistence, but for a ____________________.

d. Alienation of labor under laissez-faire capitalism: Under capitalism, the labor of both the proletariat and the bourgeoisie is ____________________ alienated:

(i) The labor of the proletariat is alienated because almost all of their labor goes to benefit the ____________________, not themselves.
(ii) Even the ____________________ experience alienation.  

- Since all value stems from ____________________, and since the capitalists produce almost ____________________ themselves, the capitalists are thus virtually valueless or ____________________.  

- Nevertheless, because they own the means of production and profit from wage-labor, capitalists have vast quantities of ____________________.  

- Thus the only way for capitalists to try to express, demonstrate, or be recognized for their own value is to own ____________________ that are highly valuable (mansions, Rolls-Royces, expensive jewelry, etc.).  

- M&E call this desire to express one’s own value by owning valuable commodities the “fetishism of the ____________________”.  (Fetishism is the worship of a fetish, i.e., an object superstitiously believed to have ____________________ powers, especially of protection.)
C. Changes in social conditions:

1. In the Middle Ages, almost everyone lived on a ____________________.

2. Enclosure: because of the introduction of large-scale sheep and cattle production, serfs were not allowed to use the ____________________.  They were then ____________________ off their manors.  

2. Urbanization: Between 1800 and 1850, the urban population of Britain increased from ________ % to _________ %.  Life in cities was ____________________, dirty, unsanitary, and full of ____________________.

3. Factory work: Factory work was ____________________, insecure, loud, and ____________________.  It also broke families apart, since they did not ____________________ together.

D. Changes in political systems:
1. In the middle ages, 

a. serfs owned only their small ____________________ plots on the manor;

b. serfs were bound to their ____________________ land by copyhold; they could not leave the manor without the lords’ permission; and
c. serfs were not allowed to sell their ____________________.

2. Under laissez-faire capitalism, governments protect what are called equal ____________________ “freedoms” or “liberties”: everyone has a right to
a. to own or sell an unlimited amount of ____________________;  

b. ____________________ where they choose; and

c. sell their ____________________ to anyone.
E. Changes in ideology (superstructure):

1. Ideology in manorialism: 
a. The feudal system was justified ultimately by an appeal to ____________________, who gives kings a ____________________ right to rule the lords.

b. M&E’s criticism of the doctrine of the divine right of kings: It is a ____________________ ideology that only serves to ____________________ the economic system of manorialism.

2. Ideology in industrial capitalism:

a. Laissez-faire capitalism is justified ultimately by Adam Smith’s (1723-1790) doctrine of the “invisible ____________________”: the capitalist “intends only his own gain, and he is in this, as in many other cases, led by an invisible hand to promote an end which was no part of his intention.  Nor is it always the worse for the society that it was no part of it.  By pursuing his own interest he frequently promotes that of the society more effectually than when he really intends to promote it.  I have never known much good done by those who affected to trade for the public good” (The Wealth of Nations [1776]).
b. M&E’s criticism of Smith’s doctrine of the “invisible hand”: It is a ____________________ ideology that only serves to ____________________ the economic system of industrial capitalism. 
F. The real effects of laissez-faire industrial capitalism:

1. In fact, when the capitalists pursue their _______________ interests by exploiting wage-labor, the wage-laborers become too ____________________ to buy the commodities they produce.  Thus the proletariat does not in fact ____________________ from laissez-faire capitalism.  

2. In this way, laissez-faire industrial capitalism thus leads to a ____________________ of overproduction: making more ____________________ than can be sold profitably.  
3. Capitalism can only solve this problem of overproduction by constantly expanding its ____________________.  
4. The need to expand markets leads to imperialism: the economic ____________________ of foreign countries.
III. M&E on the communist revolution:

A. The revolutionary contributions of bourgeois industrial capitalism:

1. It has developed ___________________, which should reduce the total amount of work that people need to do in order to _____________________.

2. By constantly expanding markets, production, and exploitation of raw materials and human labor beyond ___________________ borders, it has globalized _____________________ – thus setting the stage for an ____________________ revolution.

3. In making capitalism a global phenomenon, it has immensely facilitated means of ____________________ (e.g., trains, airplanes, print, radio, TV, _________________).

4. It has concentrated workers together in ____________________ – so that it will be easier for the proletariat to ____________________.

5. It has concentrated property in ____________________ hands – so that it will be easier for the proletariat to ____________________.

6. It has created great unrest among the proletariat by its necessary crises of _______________________ – which ____________________ workers from their jobs.

7. It has abolished previous ideological justifications – such as ____________________ ones – for the ownership of the means of production.  All that is left is “naked, shameless, direct, brutal ____________________” of the proletariat by the bourgeoisie.  Thus workers are for the first time forced “to face with sober senses their _________________ conditions of life.”

B.M&E believe that eventually conditions for the proletariat will get so intolerable that they
1. will recognize that they have “nothing to lose but their ____________________.”
2. will engage in an international Communist revolution, abolishing bourgeois ____________________ property.

3. will thus destroy the ____________________ class, forcing present capitalists either to become workers or to be ____________________.  

4. will form a ____________________ society, in which all means to production are ____________________ held by the ____________________.
IV. Some objections to Marxism:

Objection A: It’s not fair for Communists to destroy the private property owned by ____________________, artisans, small ____________________, etc.  After all, these people actually ____________________ for their own profits, unlike _________’s and major ____________________.

Reply A: This ____________________ the target of Communists – but only the ownership of the means of production by those who ____________________ actually produce anything.  In any case, industrial capitalism is already ____________________ the small-time bourgeoisie (e.g., the rise of huge multinational restaurant and retail chains, factory farms, etc.).

Objection B: It’s not fair for Communists to destroy the ____________________ property owned by industrial ____________________.

Reply B: Industrial wage-laborers own practically no ____________________ property, and will be much ____________________ after the Communist revolution.  And after the Communist revolution, workers can still appropriate what they need “for the maintenance and reproduction of ____________________” (e.g., food, ____________________, etc.).

Objection C: A Communist revolution will abolish bourgeois ____________________ and ____________________.

Reply C: ____________________ it will!  But such individuality and freedom (especially free trade) exist only in order to secure the bourgeois ____________________ of the means of the production, and are really only ____________________ by the bourgeoisie.

Objection D: If there’s no bourgeois private property, then no one will have a ____________________ to do any work.

Reply D: This kind of laziness is only a feature of ____________________ labor – because work isn’t in the ____________________ of the wage-laborer.  

1. In a Communist state there will be no drive to make ____________________, thus no need to ____________________ laborers.  Thus work will be much more ____________________ than it is in industrial capitalism.  

2. Furthermore, under Communism, all workers will share the ____________________ they make.  Thus work under Communism is in ____________________ interest – not just that of the private owners of the means of production.
Objection E: A Communist society will destroy the bourgeois ____________________.

Reply E: True, but the bourgeois family is based on an ____________________ patriarchy, in which women are reduced to being ____________________ -machines and raisers of good little future ____________________.  In a Communist society, men and women will work and share in child-rearing ____________________.

Objection F: Communism has been tried and ____________________ in the Soviet Union and the People’s Republic of ____________________.  It has led to economic ________________ and totalitarian destruction of all ____________________ liberties.

Reply F: Neither Lenin’s nor Mao’s revolutions followed the model laid out by M&E.  This is because M&E believed that a proletarian revolution could occur only in a developed ____________________ society, whereas Russia and China had ____________________ economies and ____________________ political systems.  These revolutions were not the result of a genuine ____________________ discontent with bourgeois private ownership – but rather little more than excuses for a small ____________________ to seize absolute power.

Objection G: ____________________ for the proletariat have improved much since the early 19th Century.  Thus the proletariat now has no ____________________ to revolt.  Some examples:
1. Factories are now much ____________________ places to work than they were in the early 19th Century.

2. Labor unions have secured relatively high ____________________ and benefits for factory workers.
3. Labor unions have also prevented the unjustified ____________________ of individual workers.

4. Furthermore, most proletarians don’t work in factories now, but in the ____________________ sector (restaurants, hotels, ____________________, “customer service”, etc.).

Reply G: These “improvements” are more apparent than real:

1. Proletarian jobs are still very high-____________________ jobs.  This is because the bourgeois owners have a strong interest in increasing “worker ____________________” – i.e., the amount produced by an average worker so that the owners can make a ____________________.

2. Factory work is still essentially ____________________, with the great majority of the profits going to the bourgeois ____________________.  Some examples: 
a. Currently, the richest 0.5% of United States households have ______% of the financial wealth.

b. Since 1980, the average pay of regular working people increased ______%, while CEO pay grew __________ %.

c. In 1980, the average CEO made _____ times the average hourly worker's pay, ______ times in 1990, and _______ times in 2000 (source: Business Week).
3. Factory jobs in the United States are now generally highly ____________________, since many corporations (e.g., General Motors) are closing factories in the United States, and moving them to countries where the ____________________ and safety and ____________________ standards are much lower.  There’s almost nothing that labor unions can do about this.
4. The work done in the service sector is still just as ____________________ – and now more poorly ____________________ – than that done in factories.  Furthermore, it is very rare for workers in the service sector to be allowed to form __________________________.
In-class worksheet on Marx

Classical liberalism on the only duties of government:

I. Protecting political liberties: the right to vote.

II. Protecting civil liberties:

A. Protecting the right to life.

B. Protecting property, including money, owned by individuals or corporations (including the rights of property owners to do whatever they want with their property).

C. Enforcing contracts (involving buying or selling products or labor).

D. Not interfering with (“Congress shall make no law abridging…”) freedom of religion, speech, press, or assembly (I).

E. Ensuring fair trials (VI).

Is a corporation justified in doing the following in order to make a profit?

(i) lying to shareholders about its profits, and disguising its actual profits with shady accounting practices

(ii) large retail chains intentionally lowering their prices below cost, in order to put its smaller competitors out of business

(iii) raising gasoline prices to $4 per gallon during the panic that followed the September 11 terrorist attacks

(iv) poisoning its workers by using harmful chemicals or other substances in the workplace

(v) poisoning the local community by allowing hazardous chemicals to seep into the air and drinking water, and then paying off individuals to keep quiet.  (You might have seen the film Erin Brokovich, based on the true story of a massive lawsuit against the Pacific Gas & Electric (PG&E) power company in California.  At some of its power plants, PG&E was using the very harmful chemical hexavalent chromium as a coolant.  The chemical, which was known to cause cancer, birth defects, organ failure, and deterioration of the spine, was then dumped directly into open and unsealed pools.  Eventually, PG&E was forced to pay $330 million to cover the medical costs of the people it poisoned.)

(Group 1: try to argue that all are justified; identify the most difficult cases to argue are justified.)

(Group 2: try to argue that none are justified; identify the most difficult cases to argue aren’t justified.)

B. Identify which members in your group have worked for a corporation.  Examples could be fast food, other restaurants chains, factories, retail stores.

a. During your first few days on the job, how did you feel about your work and the products you were making or selling?  

b. How did you feel about this same work and these same products several weeks or months later?

c. Describe how your feelings progressed during your employment.

(Groups 3 and 4 work on this question.)

C. Imagine that (or remember when) a Wal-Mart SuperCenter moved into your town.  

Describe its effects on

- local storeowners.

- local workers.

- local consumers.

- the community as a whole.

(Group 5: list good effects, especially in the short term.

Group 6: list bad effects, especially in the long term.)
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